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3. Define budgetory control. List out the essentials
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of sound system of Budgeting. Classify Budget on

MASTER OF COMMERCE (M.COM.) the basis of flexibility. 5+10+5

. . 4. Define Responsibility Accounting. How does it
Term-End Examination p Y &

differ from Conventional Cost Accounting ?

June, 2021 . . -
List out various wuses of Responsibility
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Accounting. 5+5+10
DECISIONS
5. (a) Define Activity Based Costing. How is
Time : 3 Hours Maximum Marks : 100

Activity Based Costing different from

Note : Attempt any five questions. All questions

Traditional Costing ? Clarify. 5+5
carry equal marks.

(b) What are the limitations of marginal

1. Distinguish among Variable, Fixed and Semi- costing techniques ? Explain. 10

variable costs. Why 1is this distinction 6. A company is producing a single product and
important ? Explain it with examples. 10+10
sells it at ¥ 20 per unit. Variable cost is ¥ 12 per
2. What 1s a ‘Cash Flow Statement’ ? Explain the

) ) unit and fixed cost i1s I 80,000 per annum.
techniques of preparing a cash flow statement.

How does cash flow analysis help the Calculates : (a) Break even point, (b) PV Ratio,
management in decision making ? 5+10+5 (c) Sales volume required to earn a profit of
% 60,000/- per annum. T+7+6

P.T.O.
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7. During the year 2017, S Ltd. made sales of
% 8,00,000. Its gross profit ratio is 25% and net
profit ratio is 10%. The stock turnover ratio was
10 times. Calculate : (1) Gross Profit, (i) Net
Profit, (i11) Cost of goods sold, (iv) Operating

Expenses. 5+5+5+5

8. The following information is supplied to you :

Standard time for a

month : 4000 hours
Standard Wage Rate : ¥ 2.25 per hour
Number of labourers

employed : 30
Average working days in

a month : 25
Number of hours a worker

works per day : 7 hours
Total wage bill in a month : Rs. 13,125
Idle time due to power

failure : 100 hours

P.T.O.
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You are required to calculate the following :
(a) Labour Cost Variance
(b) Labour Rate Variance
(¢c) Labour Efficiency Variance

(d) Labour Idle Time Variance 5+5+5+5
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THT : 3 gUg

fFHTH AFH : 100

FiZ . sl gier go7 & I iU gt g @

7% I &

1.

gfiedt, fer qen stg-uRadi @l | SR

AT IE TR PAhY HEoqul HHT STl g2

IIMEON Afed S hifu| 10+10

Uhs Yare foerRe ¥ &1 acqd € ? Uehg Yo
foeror s w1 fafurel w1 o wIfNT ww o
e FHIVT foh Uohe Yo favev ol gexeh!
fofa o & fF9 YR Wews B’ 5+10+5

P.T.O.
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. ool fEEOr &1 gRemen SifSu aSfen &t e

YA YUl % o dcdl sl gER il
o (Flexibility) & S¥IR W &S &I

cpicrwicais 5+10+5

. QI @ik i URY9YT  fSWl I8

IR aFd o@idd 9 fhe YR 9= © ?

STEIIE a@ied & fafa= ITarT &l g
TS| 5+5+10

. (a) ‘& STuMRd AN o@iRA’ W1 g

HIfSU| wEd Sania amd @i TR
AT iR 9 fRe ger i ® 2

(b) HE NG iR Wfafy w S @
g 7 =ren Hiy

. TH HEA TH Tehel SR H IARA HE B

59 =% T 20 UM SHE o+l < 9 d=dl 2| THH
it o 3 12 9fd S den fer «rd
3 80,000 SR & T SEfAREd 1 UM HITST
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(a) F9-fo==% f95 (BEP)
(b) ¥ YRAETI TIAE (PV Ratio)
() fasra AEM S 60,000 9fd o6 @9 HAH H

Th Bl T+7+6

. T¥ 2017 H A fatfee 7 8,00,000 w1 fosma
fa 3@ &1 Whel o9 (G.P) UM 25% ©
dar fe@ oW (N, P) /U@ 10% @1 i
STerd ST 10 AT o)

() T HRA @¥ (G.P), (i) Fo@ @y
(N.P.), (iii) fosha fT U WA 1 W@, den
(iv) =G 3 (operating expenses) sl UM

ﬁﬁﬂ{l 5+5+5+5

. 3T &I FAfafEd STHe 981 & T ©

Teh HEH o1 AF® 99d
(standard time) 14,000 L

RIS CAR S U : 2.25 9fd =U

P.T.O.
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e foe o siftent
S & : 30 s
T TEH H ofEd srid

{89 (average working days) : 25 f&q

U

ap

gfqer % gfdafed & w1 99 ; 7 Hue yfdt

P!

b

Th WM i hol HSEA

&1 faa : 13,125
fosett o< B & SR HEEH
T : 100 HUS

ST foerRur & smuR W fr=fafad st TTom

HIT

(a) e @ra o= (variance)

(b) =fer =T fermror

(c) 9fHeh T&Idl (efficiency) Tor=rul

(d) e HEEH T (idle time) fo=RoT
5+5+5+5
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